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1. The number of solutions of sec x cos 5x + 1= 0 in the interval [0, 27] is
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Answer: B
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° Watch Video Solution
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2.If cos (cot -1 <§>> = cos (cos -1 :c) then a vaue of x is
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Answer: A

° View Text Solution

3.If tan @ tan(120° — f)tan(120° +6) = 1/,/3,then § =
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Answer: A

o Watch Video Solution
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o x2 :133
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and 0 < z < 4/2then x =
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Answer: B
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° Watch Video Solution
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5. The sum of the solutions in (0, 27) for the equation cosx cos
(F-2)m(5+2) -7

g ~T)eos( g )= Tls
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Answer: C

o View Text Solution

6. If x >0 , vy > 0, z > 0 , xytyz+zx < 1 and if

tan" 'z 4+ tan" 'y + tan"' z = , then x+y+z equals to
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D. ./zyz

Answer: B

° View Text Solution
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7. The set of solutions of the system of equations z + y = 5 and cosx

+ cosy = 3 where x,y are real , is

A-{(w,y)icos<m;y> =
B.{(a;,y);sin<’” ;y> _
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c.{(x,y)=cos(“’ —Y) = %}

D. Empty set

Answer: D

° View Text Solution
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> = cos ! z,then x is equal to
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Answer: C
° View Text Solution
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O.If tanz + tan(x + %) + tan(ac + %) = 3, then tan 3x is equal to
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D.O
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Answer: C

° View Text Solution
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10.If§§x§1,thencos T + cos 5—1—5 3 — 3z° | is equal to
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Answer: B

° Watch Video Solution

1. The most general value of 6 which satisfies both the equations

tand = — landcosf = — is
V2
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Answer: B

o View Text Solution
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12. (tan ! t 1 = — =z =
(an m) +(co x) 3 x
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Answer: A

° View Text Solution
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13. The set of solutions of the

(v/3 —1)sinf + (v/3+ 1)cosf = 2is

Answer: A

equation,

o View Text Solution
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14.ftan 'z +tan 'y +tan 'z = E,then 1-xy-yz-zx is equal to
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Answer: B

° View Text Solution

15. If 3 cosx # 2 sin x , then the general solution of
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sin“x — cos2x = 2 — sin2zx is
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Answer: C

° View Text Solution
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16. cos_1< ) — 2sin_1<§) +3COS_1<E) —4tan_1( — 1)

equals
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Answer: D

o View Text Solution

17. {x € R:cos2zx + 2cos’x = 2} is equal to
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Answer: B

° View Text Solution
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18.If sin ! (—> + sin ™! (—> = Z,then x is equal to
x x 2
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Answer: B

o View Text Solution
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19. The value of x , where x > 0 and tan (sec_1 (—)) = sin(tan"'(2))
T

is

Answer: B

o View Text Solution
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20. If cos 2z = (\/5 + 1) (cosar: — E),cosx # E,then x belong to
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Answer: D

° View Text Solution
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21.sin"! <%) + 2tan ! <§> is equal to
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Answer: C

o View Text Solution

22.1fsin ™ '(z) 4 sin " '(1 — z) = cos " '(z), then x belong to
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A.{1, 0}

B.{ 1,1}
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D. {2, 0}

Answer: C

o View Text Solution

23. The solution set of (54 4cosf)(2cosf + 1) =0 in the interval

0, 2]
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| ° View Text Solution
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24. cos lcos_1 ( — 7) +sin~! ( — 7)] is equal to

Answer: B

° View Text Solution

25.1f sin () — cos " (z) = %,then x is equal to
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Answer: B

° View Text Solution

26.The equation /3sinz + cosz = 4, has

A. Only one solution
B. Two solutions
C. Infinitely many solutions

D. No solution

Answer: D

o View Text Solution

27.sec®(tan~'(2)) + cosec®(cos ' (3)) is equal to
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Answer: C

o View Text Solution
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